— MR FENBARTYRR—IL) =T

X EDER
F21E BXRIYVIR—)LY—4 FE2fi

BEIZvhi—LU—2

B B 120194F3 A 23 A (1) 13:00 AT 905 5% (SHEMEYLEREKS BN
x & 2 [ 5 B 163°C | E E  25% E] EvF(®) RB EvF(RE) #1R
<yFasviat— B 03 * B fHHE EX 2l & 2 M8 Bt EEEE8 TE BHE HEY
EHT7 Y — KRB BE BlE1REBA seowna L3 Hih REIEL AR B 459 A\
(h—LF—L) Bia - 0=3 0 B 0 LR (ESH—F—L)
FCZ L A i 1 ] % 0 0 MIOUHZEE
KICK OFF
2K Ya—h B . B\ || & . B Ya—h R
No TOUTH ema|a| =% |s|Els|s| *TE | RHTwoe OUTH o
0 AFH FAER 41| GK| GK| 31|k E # 0
0 Hef BED 15| DF|DF| 3|E®A B 0
0 HERE FE 16| DF|DF| 5|i#B &KX 0
0 2R 33 33| DF|DF| 8|&EK =AT 0
0 RE B 35| DF| DF| 19| X#2 8 A (Cap.) 0
845y 0 INEF JfESR 2| MFIMF| 10|F%% RIE 0 HT
1 1 HEiE F 14 (Cap.) 4| MF|MF| 15|EEB &F 0 HT
0 FEF 8| MF|MF| 23| RO X{A 0 804
1 1 e £ 30| MFIMF| 24 (/MU e sk 0
694 0 BILR LAFILER 9| FW|MF| 26|&ME B 0
0 WA FFE 34| FWFW] 11[3RA —i& 0
I ENEE 31| GK| GK| 41|FHWE A E
Rk BA 7| DF|DF| 2|B &Mt A&
By J% 23| DF|DF| 4|E@A /B
ik LA 6| MF|MF| T7[#AH FE{G
2 0 &R $R3E 10| MF| MF| 16|FRiE HEX 0 10
TH HE 14| FWlFw| 14|80 EA 0 23
9 1 1] 1[kE #IK 25| FW| FW| 22| KR F—ER 0 15
L5 -R5 BEE BEE & -Bi5
39| & | iR £F 57 |dAB= hO s 615| 2| 55HE AKX BIE(TS
O o a1 6650 2| 3 =L KB 57
¥ e 7053 = | 24 /ML dk st RAK =Y
20 1] 3/¥a—r| o 0 o0
6: 5 11| GK | 13| 5. 8
5. 4] 9| cCK 2] 11
4: 6| 10| E#EFK| 11 8 3
18 1] 2|MEFK| 2| 0 2
11 2|@E70) 2] 0 2
0 0/ 0/ PK o 0 0
BFREHE| $R5F—L [ No. BwRE BaRA LA ~FUJ)IL —-TJanR T:BEEHR/R xR S:a—k HATAVY
90+25> [Fownvzms | 251K B EHA EREEE 4 - 30 - 25 2%7LlE] ARS
(A ER] AT45:10(00:10) . #347:28(02:28) . A APTERR 01:49:03
]

X (FTHAR) DWIZ(E, FEFKDSS, BFF—LDATHARIZLDHE. RTRLTVET,




